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1.

k=3.731,p=1577 ,k=0.269,p=0.423

Kertas 2 Set 7

Correct axes and uniform scale
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logioy =logyo k VX + logiop g0
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P=1.288 k=1
(a) Guna I= 2 %100
2005
x=486, y=135 z=80 i’
(b)i) 120 x 25+ 130m + 135 X 80 + 139 x 30
s XL,
gunal = Swi
(120 x 25) + 130m + (135 x 80) + (139 x 30)
132.1 =
135+ m
m = 65
i) 150 x —> = RM113.55
132.1

|||) 1_08/05 = 17173

(@) I :x+y <150

11 :yZ%x

I1:y—x<80
Refer the graph paper

(i) x =100

(1i) maximum point (35, 115) =» Profit = 3(35) + 5(115)
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(ii) b2 — 4ac = 11552 > 0, yes, the locus intersect x-axis.
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